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~ fill in the blanks @ | |
1 'T'he' numeral for six lakh seventy-eight thousand nine hyn e
e ‘ ‘ and tQI]

3o | TS

2. .Largest’possible_ number using all the digits 4, 0, 6, 8, 2 will -be

if each digit is used only once.

3. Arrange the given numbers inascending order:

8809 | | 8908 8098 8089

4. Arrange the givennumbersin descending order:

7069 7089 7096 7084

5. Roman numeral for49is

6. Hindu-Arabicnumeral for LXIXis

7. Insertthe correct signs of comparison:

(1) 4876 | | 4867 (i) 9909 [9910
8. "Conmiplete: 1375, 1400, 1405, w2 1, -l epin Lo s
©9.10000is___ morethan9999. ki,

10.. Smallest odd iumberis.
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Fiil in the blanks :
1,

b

900000 +8000 +70=

. Successor of 34009is

Complete the sequence:

. Insert‘<’or‘>’or‘=’:

@ 11201[ 11011 (if) 11001] 11100

Odd number succeeding 909is _
. Number namefor7007is
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& EXERCISE-3 2

Thenumber name for8070650is

Smallest possible number using all the digits 4, 0, 6, 8, 2 will be

___if each digit is used only once. P i, T

Arrange the given numbers in descending order:

7707 7077 7770 7007 7700

Predecessor of 7100is

845 | | 840 835

(iii) 3Th +4H+5T[ | 3450

Even number,preceding 9901is._
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